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LEARNING OBJECTIVE

The students will be able to:

Read the poem with correct pitch and intonation.

Knowledge about rhyming words.

Ability to answer text based questions.







Where covered in moss he did find
Scarlet berries red and wild.
Thought Georgie, ‘How good these will be
On buttered bread, I wish I had with me.’

He set to work saving the ripe red ones,
In a makeshift cap made of leaves.
By the river he sat to taste them;
Took one, but stopped and thought of mom.





‘Should I save them?’ he asked with a sigh,

Looking at them with a longing eye.

Georgie then decided to go half and share,

And not to eat all of them there.

Loving son that he was,

Georgie bit but a single one

And wrapped the rest for his sick mom,

And hungrily started for home.



As he neared his thatched hut,
Less to have them he felt.
‘Had I eaten would I ever sense’, said he,
‘Half this wave of happiness?’



Difficult words

1) Longing eye – desire
2) Sense – feel
3) Wrapped – cover or enclose in paper or soft 

material
4) Sigh – emit a long , deep and audible breath
5) Thatched – cover the roof of a house with 

straw



Rhyming words

1) Mother – winter – gather
2) High – lie
3) Be – me
4) X
5) Sigh – eye, share – there
6) X
7) X



Get Going
A) Let us find the answers from the poem.

1) Answer the following questions.

a) Why did Georgie go to the forest?

Ans) Georgie went to the forest to fetch some firewood. 



b) Till what time Georgie work?

Ans) Georgie worked hard till the sun was high i:e 
afternoon.

c) Where did Georgie find the scarlet berries?

Ans) Georgie found the scarlet berries covered in moss 
under a tree in the forest.



2) Read the following sentences. Write T for true and F for false.

a) Georgie wanted to eat the scarlet berries when he found them. 

b) Georgie had buttered bread with him.

c) Georgie kept the berries in a small basket.

d) Georgie’s mother was not well. 

T

F

T
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B. Let us read between the lines..

1) Why was the winter described as ‘harsh’?

Ans) The winter was described as ‘harsh’ because Georgie
and his mother did not have any firewood to keep 
themselves warm.



2) Why was Georgie ‘a loving son’?

Ans) Georgie was ‘ a loving son’ because he helped his 
sick mother by collecting firewood from the forest and 
instead of eating all the berries he saved them for his 
mother.

3) What does the phrase ‘wave of happiness’ mean?

Ans) It means that Georgie was filled with happiness as 
he had saved half of the berries for his sick mother.



Learn the difficult words



LEARNING OUTCOME

➢Ability to read a poem correctly . 

➢Concrete concept of rhyming words.

➢Able to frame answers.




